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1. On what intervals is the function f(z) = °+3x*—1 increasing, p
decreasing, concave up, or concave down? | D) 0.5 o s
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2. For each of the following functions, state whether or not the ) St MUT crmot he a PFIM 1 point
Mean Value Theorem can be applied on the interval [—1, 1]. @ o 3. .
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[f not, why not? |[Don’t write a whole paragraph, just one or Pnis 0> logaane a(x} s ok continwes [-1, P

two short sentences. | MUT can be apph ol
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[f yves, then there exists at least one point ¢ in what interval
such that the derivative of the function at x = ¢ is equal to
what? |Fill in the blanks with a specific interval and a specific
number. You don’t need to find c|
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